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Continuity

CONTINUITY

1.  
1 1

,
3 3

  e

1 1 3x
log , x 0

f(x) x 1 2x
k , x 0

 f ]  k _______

2.  [t]   t  
x 0

4
lim x A

x

 f(x) = [x2]sin( x) ]  x 

 :

(1) A 5 (2) A 1

(3) A (4) A 21

3.  
1 1

2 3 3

4

3

sin(a 2)x sin x
; x 0

x
ƒ(x) b ; x 0

(x 3x ) x
; x 0

x

x = 0 ]  a + 2b :

(1) –1 (2)  1
(3) –2 (4)  0

4.  f(x) = x · 
x

2
, –10 < x < 10,  [t] 

]  f [;

________
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Continuity

SOLUTION
1. NTA Ans.  (5.00)

Sol. k = 
x 0

n(1 3x) n(1 2x)
lim

x x

k = 3 + 2 = 5

2. NTA Ans.  (2)

Sol. A = 
x 0 x 0

4 4 4
lim x lim x x 4

x x x

ƒ(x) = [x2]sin( x) will be discontinuous at

nonintegers

 x A 1 i.e. 5

3. NTA Ans.  (4)

Sol.
x 0x 0

sin(a 2)x sin x
lim ƒ(x) lim a 3

x x

2 1/3 1/3

4/3x 0x 0

(x 3x ) x
lim ƒ(x) lim

x

1/3

x 0

(1 3x) 1
lim 1

x
ƒ(0) = b
for continuity at x = 0

x 0 x 0
lim ƒ(x) ƒ(0) lim ƒ(x)

 a + 3 = b = 1

 a = –2, b = 1

 a + 2b = 0

4. Official Ans. by NTA (8)
Sol. x   (–10, 10)

x
(–5, 5)

2
  9 integers

check continuity at x = 0
f (0) = 0 
f (0+) = 0   continuous at x = 0
f (0–) = 0
function will be distcontinuous when

x
4, 3, 2, 1

2

8 points of discontinuity
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